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x

Cxx
x

dx
xdx

+−−+=

+







+=

++== ∫∫

2
sin

2
cosln

2
sin

2
cosln

24
tanln

tansecln
cos

sec

π
 

99). C
x

Cxxxdx +=++=∫ 2
tanlncotcsclncsc  



100). Cx
x

dx
xdx +==∫ ∫ tan

cos
sec

2

2
 

101). Cx
x

dx
xdx +−==∫∫ cot

sin
csc

2

2
 

102). C
x

Cxdx
x

x
xdxx +=+== ∫∫ cos

1
sec

cos

sin
tansec

2
 

103). C
x

Cxdx
x

x
xdxx +−=+−== ∫∫ sin

1
csc

sin

cos
cotcsc

2
 

104). Cx
x

xdx +−=∫ 2sin
4

1

2
sin

2
 

105). Cx
x

xdx ++=∫ 2sin
4

1

2
cos

2
 

106). Cxdx
n

n

n

xx
xdx

n
n

n +
−

+−= ∫∫
−

−
2

1

sin
1cossin

sin  

107). Cxdx
n

n

n

xx
xdx

n
n

n +
−

+= ∫∫
−

−
2

1

cos
1sincos

cos  

108). C
x

dx

n

n

x

x

nx

dx
nnn

+
−

−
+

−
−= ∫∫ −− 21

sin1

2

sin

cos

1

1

sin
 

109). C
x

dx

n

n

x

x

nx

dx
nnn

+
−

−
+

−
= ∫∫ −− 21

cos1

2

cos

sin

1

1

cos
 

110). C
n

x
xdxx

n
n +

+
−=

+

∫ 1

cos
cossin

1

 

111). C
n

x
xdxx

n
n +

+
=

+

∫ 1

sin
cossin

1

 

112). 










<+
+

−
+

+
−

<+
+

−
+

+=

∫

∫
∫

−
+−

−
+−

mnCxdxx
nm

n

nm

xx

nmCxdxx
nm

m

nm

xx

xdxx
nm

mn

nm
mm

mn

 если ,sincos
1cossin

 если ,sincos
1sincos

cossin
2

11

2
11

 

114). ( )nmC
nm

xnm

mn

xnm
nxdxmx ≠+

−

−
+

+

+
−=∫  ,

)(2

)sin(

)(2

)sin(
sinsin  

115). ( )nmC
nm

xnm

mn

xnm
nxdxmx ≠+

−

−
+

+

+
=∫  ,

)(2

)sin(

)(2

)sin(
coscos      

116). ( )nmC
nm

xnm

mn

xnm
nxdxmx ≠+

−

−
−

+

+
−=∫  ,

)(2

)cos(

)(2

)cos(
cossin  

117). 















<+

+−−

++−

−

>+










+

−

−

=
+∫

baC

ab
x

ab

ab
x

ab

ab

baC
x

ba

ba

ba

xba

dx

 если ,

2
tan

2
tan

ln
1

 если ,
2

tanarctan
2

cos

22

22

 

119). 

















<+

−++

−−+

−

>+



















−

+

−

=
+∫

baC

abb
x

a

abb
x

a

ab

baC
ba

b
x

a

ba

xba

dx

 если ,

2
tan

2
tan

ln
1

 если ,2
tan

arctan
2

sin

22

22

22

2222

 

 

 



121). C
a

xb

abxbxa

dx
+







=

+∫
tan

arctan
1

sincos
2222

 

122). 
( )

C
xxe

dxxe
x

x +
−

=∫ 2

cossin
sin  

123). 
( )

C
na

nxnnxae
dxnxe

ax
ax +

+

−
=∫ 22

cossin
sin  

124). 
( )

C
xxe

dxxe
x

x +
+

=∫ 2

cossin
cos  

125). 
( )

C
na

nxanxne
dxnxe

ax
ax +

+

+
=∫ 22

cossin
cos  

126). ( ) Cax
a

e
dxxe

ax
ax +−=∫ 1

2
 

127). Cex
a

n

a

ex
dxex

axn
axn

axn +−= ∫∫
−1

 

128). 
( )

C
am

a

xm

xa
dxxa

mxmx
mx +−=∫ 2

lnln
 

129). Cdxxa
am

n

an

xa
dxxa

nmx
nmx

mx +−= ∫∫
−1

lnln
 

130). 
( ) ( )

Cxdxe
na

nn

na

xaxnxe
dxxe

nax
nax

nax +
+

−
+

+

+
= ∫∫

−
−

2

2222

1

cos
1cossincos

cos  

131). Cxdxx +=∫ coshsinh  

132). Cxdxx +=∫ sinhcosh  

133). Cxdxx +=∫ coshlntanh  

134). Cxdxx +=∫ sinhlncoth  

135). Cedxx x +=∫ arctan2sech  

136). C
x

dxx +=∫ 2
tanhlncsch  

137). Cxdxx +=∫ tanhsech
2

 

138). Cxdxx +−=∫ cothcsch
2

 

139). Cxxdxx +=∫ sechtansech  

140). Cxxdxx +−=∫ cschcotcsch  

141). Cx
x

dxx ++−=∫ 2sinh
4

1

2
sinh

2
 

142). Cx
x

dxx ++=∫ 2sinh
4

1

2
cosh

22
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143). Cxxxdxx +−=∫ lnln  

144). Cx
xx

dx
+=∫ )ln(ln

ln
 

145). 
( )

C
nn

x
xdxxx

nn +










+
−

+
= +

∫ 2

1

1

1

1

ln
ln  

146). ∫∫
−−= xdxnxxxdx nnn 1

lnlnln  

147). ∫∫
−

+

+
−

+
= xdxx

m

n
x

m

x
xdxx

nmn
m

nm 1
1

ln
1

ln
1

ln  


